oo obood

gogn goobbooboo
godn gooboboboooggn
HEN 15000.00/0]
goon go:0ogo

0 0:ZK-5

000D0:008o00 02850 mb

goog guobbdgobobobboooobbougo
gooboboobbodoooooboon

0000 86 0419 3155736 13050794150
oo

00 0000 00 ZK-5
0000 0 0 800 0 2850 mJ 00 10000 kgOJ
00 0ooo0O0oo 0000 00
0000 0oo

000000

L.gooobbboggooobobbooooobbbooooooobbboo,boooooon
gopooobbooggooobooboooooooboboobobboooooobDbbobbboooog

s, JopooobododogooooobobobooooooobobobbbooooooobDbbbbuooood
gooooo

jgbbobbboudogguboboobbououoooobbobbbbdoooobobboobbbouoooad
gooo

.y ogggouoboonbogoooobobbboooooobbbooooobn
goooobd

kDODDOOOooOoooDoOoooooobooooooDboooboooDbooboooooooon
O000d0oo0o0oboooooob0oboooobo0ooDbooboooDbOoobDoooDboOooog
O0000000000fe2+0mn2+00000000fR+O0mno20 0000000000 0O0O0O0OO
O0000o00o0obooboooobooboooobooooo4

fe2++302+6h20=4fe(oh)30 O mno mn207+4 fe2++202+6h20=3 mno2+4fe(oh)30 O O OO O 0 mn2++ 02=



mno20 O O mn2++ mno2d h2o0= mno2[] mnoh20+2h+

goooon

O000oo0D0O03-5mn00000000110-14m/h0000O 0O 0O 16-18/m2.s00 00O 0O 0O 1.0-1.2m0 0O O
0 0= 0.06mpal] O O OO OO O 0.06-0.3 mpall 0.3-0.6 mpall! 0.6-1.0 mpall

0000000 fe2+< 20mg/I0 mn2+< 10mg/10 O O fe2+< 0.3 mg/I00 mn2+< 0.1 mg/10]


http://www.tcpdf.org

